PART - I/ 9m - [
(1) General English / |rara s

Complete the following sentence by using the
correct form of the verb. Use the options
given below ;

[ didn't bring my wallet, Since you invited me
to lunch T guessed you =

(1)  had given some money

(2)  willhave some money on you

3)  might have had some money on you

(4)  might given some money

Choose the description that best captures the

meaning of the word INCORRIGIBLE :

(1) showing extreme resistance Lo certain
typesof food

{2) having resilience and tenacity nol
usually found inothers

(3) displaying signs of fatigue and infection
in the body

(#)' having bad habits that cannot be
changed or improved

Choose the word/phrase that gives the best
meaning of the word underlined in this
sentence ;

Your findings are original but vou haven't
famibarized yourself with the nomenclature
of the specimens.

(1) system ofclassifying things

(2) usesof

(3) valueof

(4). system of naming things

Improve the underlined phrase in the following
sentence with the help of given options :
Appheations for this position should be filed by
next Saturday latest |

(1) latest next Saturd ay

(2) latest by Saturday next

(3)  nextSaturday atl the latest
(4)  nexl Saturday latest

Complete the following sentence by using the
correct form of the verh, Use the aplions given
below :

She was too nervous to speak before such alarge
audience and

(1) wasprompted

(2)  will be prompted

{3)  hastobe prompted

(4)  hadtobe prompted

6.

?‘.

10.

Choose the word most nearly OPPOSITE in
to the given word : DILATE

meaning
(1)  abduct (2) contract
(3)  expand (9 shrink

Choose the one meaning which best expresses

thediom, Hobson's choice .

(1)  asituation in which you have no choice
because if you don't accept what is given,
you get nothing at all

(2)  asituation in which you have all choice
but if you accept the choice you forfeit
the right to choice again

(3)  achoice where your fortunes have already
been decided before you exercise the
choice

(1)  achoice which is a win-win situation for

' parties invelved in unlike business

Choose the right description that best captures
the meaning of the word, MARGINALIA :

(1) membersof a group who donot actually
fight but chserve combat from outside

(2)  notes writlen in the margins of a book or
documents you have read

(3}  peaple who have had an experience of
border countries and territories

(1)  marked with pencil and drawn on the
roofs of public buildings

Identify the partof the following sentence that
has/may have an ervor.

Roses grow with abundance against this

(1) (2)
old wall i this season
(3) (4)

Improve the underhined phrase in the following

- sentence with the help of given options ¢

Raju seemed to be living at some remove from
reality.

(1}  from some remove

(2) in & remove

(3)  atoneremove

(1)  atcertain vemove
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22,

PART - 11 / s - 11
(1) Gen. Knowledge And Current Affairs / @ J & HAGMHE G4

Where among the following has the world's
largest solar park recently been inaugurated ?

(1} Karnataka o
(3)  Delhi ()

Chennai

Mumbai

Who moved the Objectives Resolution which
stated the aims of the Constituent Assembly ?

(1) B.R. Ambedkay
(2) Rajendra Prasad
(3) B.N.Rau

(4)  Jawaharlal Nehru

One of the following is true about the Harappan
scripl:

(1)  Itiscomparable to the Roman script.

(2) Itis written from left to right like the
Devanagari.

(3) Itisanalphabeticscript.
(4)  Itisa pictographic senipt.

Which one of the following settlement pattern
18 likely to develop in plain fertile agricultural
regions ?

(1)  Linear

(2) Circular

(3 Rectangular
(4) Star-shaped

Who among the following recently won the
special Golden Man Booker Prize, which marks
the 50t anniversary of the prestigious awari,
Man Booker Prize ?

(1)  Michael Ondaatje
(2) Kiran Desm

(3) V.5. Naipaul

(4)  Salman Rushdie
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26.

27.

29.

Which of the following statements 1s not true,
regarding the ‘Brown Agenda'?
(1) The emphasis of Brown Agenda 15 on
Inter-generational equity
()  Brownagenda deals with loeal 1ssues of
the urban poor and the disadvantaged
(3)  Brownagenda deals with environmental
issues, associated with urban and
imdustrial areas
(4  Brownagenda deals withissues such as
pollution, waste disposal and the
provision of safe drinking water and
affordable housing
The introduction of economic and political
riform policies of Perestroika s assaciated with
which of the following political leader ?
(1)  Nikita Khrushchev
(%)  Mikhail Gorbachev
(3) BornsYeltsin
(4) Vladimir Putin
When did sustainable development goals come
into effect ?
(1)  January 2016
(2) July2016
(3) January 2015
(4)  July 2015
Who won the silver medal in badminton in the

Asian Games, 20187

(1)  Saina Nehwal

(2)  Syed Modi

(3 P.V. Sindhu

(4)  Taipeis Tai Tzuying

In which population interactions both the
species benefit ?

(1) Amensalism
(2)  Mutualism

(3  Competition

(4 Commensahsm
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PART - I1 / 917 - 11
(2) Reasoning Ability / dtfeher Tgar

31. Select the correct alternative from 1'.h-.=T gwven | 31 fefafEd 4 4 el fasreg =1 qﬁlﬁ ST g&A gt
ones that will complete the number series, - T .
7,14, 42,168, 2 7,14, 42, 168, __ 2
(1) 840 (2) 504 ~(1) 840 (2) 504
(3) 672 (4 1008 (3 672 (4) 1008
. 32. Ij B, C.D 3 E 38 96K
32.  Five friends A, B, C, D and E are sitting on a 82 ﬁ‘ﬁiﬂﬁ T fi A
bench in such a way that : 42 € [
(@ Cissitting to immediate left of A. (a) C, A% FHFzanad Sa1 &1
()  Bissitting to the right of A and D, (b) B, ASRD % 91 |
(c) Eissitting to the left of C and A. (c) E,CAMA Fad 4231 2| i
Whao is sitting in the middle ? g HFA AR ?
e (2) () C 2 D
(3) A (4) B _3) A (4) B
33.  Select the correct option which is related to the Ly Hﬂ e e &L q\E ﬁ 3'{:'[)[
third term in the same way as second term is TR Hafed € forg T THU U% Yeel Ug | Hafud
related to the first. Tl
NQSW : MPRV : : CFHL : 2 NQSW : MPRV : : CFHL : »
(1) BFJN (2) BEGK (1)  BFJN (2) BEGK -
(3 DEGJ (4)  EBGM @  DEGJ 4  EBGM
e A 7. 7 SUPREME =1 DLDSRTO % ¥ H Foag
34. If SUPREME is coded as DLDSRT , How . 1
would BROUGHT be coded ? 1 ST, @ BROUGHT ) fory %9 3 g
o i wewa 2
1) SGFVAQN (2) SGFNVA
( Ql o ~(1)  SGFVAQN (2)  SGFNVAQ
X-6 SPACE FOR ROUGH WORK /7% =4 % ferw stz 18A301



In a row of children, Bhavana is ninth from
the left and Ashuis thirteenth from the right.
They exchange their positions and then Bhavana
becomes seventeenth from the left. Find the
new position of Ashu from the right end of the
row.

35.

(1 22 2 23w

@ 20th

215t

(4)

A man stands facing West. He turns 135°
clockwise and then he turned 180°

anticlockwise. Then, he turned 45° clockwise.
What was his final direction ?

(2)
(4)

36.

(1) South-West South

(3)  North-West West

37. Complete the following figure matrix by

selecting the right figure from the given options.

A
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X X
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of six, there are three men X, Y and Z

s

38, Infamily : ' Tt ftam 4 = - <
and three women A, Band C. The family has e EFFH ¢ A dgmx v
an Architect, a Lawyer, a Professor, 3IChHI'|-El'Ed a1 Z a4 it feat A, B a9 C &1 3W yfgn
Accountant, a Doctor ﬂl_ld an Engineer. The U 9 s, UF gaia, U IRy TF HE
description of family 1s given below : THEZ=, W R A o ’t.‘fll ;:E]

There are two married couples and two T TR .
unmarried persons k= :
N 'sg—q E-] "3
The doctor is married to Lawyer 3 ferafed aufa AR Alaatea =t
X is married to the CA <
- SIF #F] f9ar a#te
A's father is a Professor . < F1f : -é Ea; gl
The Lawyer is C's daughter-in-law A =1 fi g %:1 (sl
Zisnol A's husband T C H ‘Eﬁﬁ"l%l
Y 1s not X's son, nor is he an Architect or J
Professor Z. A1 Hfa iﬁ el [
Who is the Architect ? R H‘Iﬁ e & ARGHI T HHE
(I X @z 0w 2
@ A 4 B JERHMAE?
(b s 2z
A3) A 4 B
39.  Choose out the odd one -
Tricycle, Trident, Trifle, Tricolour 39. fawm =i 94 .
(1)  Tricycle @) Mricolous faafemn, @, 2ré-+1 am, fatm
(3) Tnfle (4)  Trident (1) GRIES) (2) fam
(3 @E-dEm 4 @
40.  Count the number of rectangles of any size :
answer from the given options. qen wad au o3 i fawes 8w I
g a1
(1) 36 @) 48 =
e e MR
-8 Sp 21 - S
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PART - 11 R 1) 8 3
(3) Computer Literacy | ST wrean

41. Speed of internet connection i measured. in

(1) dpi o)

42, File with

extension stores
— . extension

and file with

slores

(1) bmp, image, mp3, sound
(2)  jpeg, image, sound, mp3
(3 bmp, sound, mp3, song

(4) bmp, sound, mp3, image

43, FAQ stands for:
(1) Favourite Asked Questions
(2) Favourite and Answered Questions
(3)  Frequently Answered Questions
(4) Frequently Asked Questions

44. The top most row of keys on the standard
keyhoard contains keys, and the
longest key on the keyboard is o

(1)  number, enter key
(2)  function, enter key
(3  function, space bar

(4)  alphabetic, space bar

; . +h offer information are cal}ed
A ﬂ?:h::ge which seek information

are called _ :

(1) Clients, servers

(2)  Applications, complex softwares
(3)  System software,
(4)  Servers, clients

application software

18A301

1. R wwEF W O S )
1} dpi (2) ppm
(3 Gbps (4) GHz .
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i1 erardan i
(1)  bwmp, =3, mp3, @H
_ (@  ipeg, 93, EH, mp3
(3)  bmp, S, mp3, T
(4)  bmp, |, mp3, &3
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46,

48.

49.

key and ______will

[ttng — :
apen a dialogue box for seavching a word in pdf
filie

1y CulF 2y CuwlS

(& AlLF 4y AlLS

Which of the f[ollowing 1s not a Ltype of

printer 7

(1y 4d (2) Landscape

(3) Laserjet (4 Inkjet

Email addresses in field are visible
to all recipients. Email addressesan
field are visible to only the reapient.

(1) Toand Bee, Ce
2) ToandCe Bee
3  Bee, To

4) Ceand Bec, To

Chuose the best oplion :

An antivirus program iz designed to
computer virus,

(1) scandevice andidentfy
(2} scan device, identily and ehminate
(3]  scandevice and eliminate

{4) dentfy and ehminate

Which of the [ollowing actions will not delete a
file on Windows desktop ?

(1) select file, it delete key
(2) double click on lile, it delete key
(3) dragand drop in recycle bin

(4) select file— right chick— delete

X-10
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e
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1) P
51.  Which of the following (4) Pedagogy / fyramomen

are cimracl.erlsnc

features of communication 7 51, f=fafaa & 4 5 9 5w = =it ferdnram
(a) It in}fulves exchange of ideas AR w7

SREIA0 (@) F9H fawml, avdl aw 13 # AEH-NEA
(b Itisacontinuous Process i #)
(¢}  Itisboth verbal and non-verbal (b) T TF HOA WE
(d  Itissynchronousin nature @) T A= S IR-3fen, I wwR

GG A
d) 7w W A weEfers dm g
(1)  (a), (b) 3 (d)
(2) (), {e) 3 (d)
A3 (a) (o) ()
() (a), (b) 3 ()

(1) (a). (b) and (d)
(2) (b)), (¢) and (d)
(3 (a), (c)and ()
4) (a), (b)and (c)

52.  Which of the following plans may be least
learner centred ?

52, FafafEa 9 8 == @ 9o =98 50 e

(1)  Instructional plan Nzad?
(2) Unitplan - T
(3) Lessonplan P S
(4  Activity plan @ A
@) fEnaem
53. The concept of curriculum development
excludes : S R S T e T T ?
(1) International considerations @ s
(2)  Family aspirations oy e A
(3) Societal goals @ R A
(4)  National goals Wy T e

54, Forconducting physics experiments, @ seience | g  Sfiffer &1 WA HE o o T fEam wEemen |

laboratory should necessarily have . siframd =9 1 F0 2 =fen ?

(1) Gasconnection () EFE

(2) Drainage system 2)  wE-frr womE

@ Availability of natural light and (@) Wi Qe 2 A 3 e

wentilation . (4) WeIHES
(4) Demonstration Table

- X-11



55. Whatismeant by plus curriculum for special

needs childran ?

(1)  Additional curriculum for special needs
children

(2)  Curriculum on skill areas whu:}: are
specific to special difficulties of CWSN

(3] A modified currviculum for education of
the children with special needs (CWSN)

(4}  Lessons or academic content meant for
CWSN

56. The idea behind supplementary learning
materialis to:

(1)  Provide material in less important areas
(2)  Increase learner’s text reading interests

(3)  Further enrich learner's interest in
various subjects

(4)  Prowvide material in the areas not covered
by the teacher

57, It 15 suggested that a teacher can Improve
her/his communication by following 4
C's and S's. Which of the below
given alternative holds true ?

(1) SixCsand three 8's
(2) Eight C'sand fourS's
(3  Seven(C'sand four S's

(4) Seven C'zandthree S's

58. A science teacher has joined a rural school at
the beginning of the academic session. Which
of the following tests he should use ?

(1)  Situational test
(2)  Diagnostic test
{3)  Achievement test
(4)  Inbasket test

(X-12
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- (@) Toenedl 1 v fawai # st 1 o awEn
(1) IAME 50 FHar A U T s § an
TUET=] T

57. A% JH T S & 6w s et
C i S BT 3797 Hiwo
H GUI L TFT T | Frfafan fasei 4 4 255
A1 farey we §72

() BEC M S
(2) #MEBC3MERS
(3) HEACATERS
(1) TECIMARS

58, @ﬁm#ﬁwﬁﬂmﬁﬁ;m%mqﬁm
AT e F FEaw Hame 3% Tfafag

ﬁﬂﬁh#ﬂﬁwmmmm?
A1) uftEfam ghem

(2) s aiam

(3)  IuE=1 witegm

(4) ¥ A2 qilam
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69.

Bl

62.

One essential feature of a good tea ching aid s
(1) Lowcost
(2) Popular

(3) Involving participation of m
senses

HX1mum

(4) Easytohandle

The classic format of the lessan pl
per

an 1s as

(1) Herbertiansteps
(2) Hila Taba steps
(3)  Hilgardian steps
(4) Haber's steps

The term '‘Grape-vine communication’ refers
to:

(1) formal communication
(2) informal communication
(3) advertisement and publicity

(4) selective perception

The phenomenon in telecommu nication and
media industry to integrate services, content,
offerings and means of communication under
one core technology 15 termed as:

(1) Multi-media
(2) On-line communication

(3) Convergence

(4) Integrated media

; - " a5 “god” or “hat” as
A child who rea;‘;:jﬁ type of disability 7

“tah” suffers fro
(1) dyspraxia
(2) dyslexa

(3 dysgraphia
(4)  dysphasia

18A301
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(4)  HEA | S
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L(l) e i
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(1) s Ha

(2) A FHEm
(3 fomre s

(4 afm sy
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T 1 Wiha ) 7 Fed § 7
- (1) Heel-HiEA

@) AT wEET
@  afvmrf

(4) Femfes wifEm
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64. Inecurricular construction, the act nfdi‘uidmg
content as per the class levels will come

under :

(1)  Selection of content

(2)  Gradationof content

(3)  Organisation of content

(4) Classification of content

65. Anitinerant teacher isone who i18:

(1) qualified to offer special services in
different inclusive / integrated schools

(2)  expertinanumberof curricular areas

(3) a special teacher appointed for a
particular inclusive school

{(4)  aspecial teacher appointed temporarily
on ad hoc basis

Hearing impaired children exhibit :

(1)  barriers in communication by language
(2)  barriers in moving around

(3)  barriersin individuals sell-care skills
(4)  barriersintactile skills

67. The purpose of achievement tests is not Lo -

(1) Know what students have learnt

{2) Know the areas where the learners are
weak

(3) Grade learners as sharp, weak and
average

(4)  Ascertain the fulfilment of scholastic
goals

X-14

64, IETER AR W, e W F FTEN fava-ae 5
fasnform 73 1 1 fehgah Sfaid 31 € 2

() fag-axg @ 9E
(2) forma-aeg 1 AV
(3 faua-aw % =FEE
(4) feama-awg 1 Sl

65, UF AgLEld SETE 7% B w S

() faf e e § o JaEn
23 % e Frga wra @
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